SETARTE S KB TEAE A - 93.03.04

a0 TR v
1-3 ¥ A
& AREANS e %

— ULEE(EE 10 9)
L. Ex<R > [il0gzia(2 + 5x - 3XC)F | MUY S A 1

f
(A){x|—%<x<2} (B){x|—%<x<2} (CHX|0<x<2} (D){x|—%<x<2_5'x¢0}
(E){x|—%<x<2_i'x¢0}
5% : (D)
T
2Xx+1>0 = x>—1

2Xx+1#21 = x=0

2+5x-3x*>0 = 3x*-5x-2<0 = (Bx+1)(x-2)<0 = PNy

—— .
110 2 S S5 <X<2E X200 [5E(D)
2 3

2. logo. logo. |090.5% Vil =(A)-2 ®)-1 (©)0 D)1 (E)2
fix(©)
AT 2 REY = l0goa(logoz(log, 25)) = logo.1(log, %) =10go11=0 > {:#(C)
- EEEEE 10 9)
3l e H A 12
(A) Iogxlox/l_zg (B) x= Iog1 32 (C)10*=%100 (D) Iog1 x=—2 (E) (%)Xz 2
fEAD)
T
(A) IogxlO\/l_:g — 10410 =x

3

2 = x=10 (B)x=log,32=log,,2°=-5
2

2

3

(C) 10°=3/100=10° = x:% (D)log, x=-2 = x:(%)—2=22=4

®Cr-ey=2 = x--1

4. ~ ’?[J?VQ'PBBEf‘fQL_ﬁ*TF%EﬁJ ?
log, 17

(A) log;7=1 (B) logs2 + logs4 = logs6 (C) logs17 — logs13 =
log, 13

(D) logz5 - l0gz7 = 109235  (E) 10949 =log V3

£1H



A AE

HET
(A) ST (B) logs2 + logs4 = l0gs8 # l0g36
17  log. 17 o
C)logs17 — logs13 =logs=— » —>"—=log3l7 .. = N }fEE"
(C) logs Js % log, 13 013 T
(D) 109235 =10g2(5 - 7) = 10925 + l0g,7 # 09,5 - log,7
1
L =
(E) 10949 = log ,. 32:§Iogz3: logz3 > log , v/3=log 135=%Iogz3: log,3 .. VRIS
22 =
2

5. Fa>0b>0 U Ippfe s 2
(A) (loga)(logb) = log(a+ b) (B)—loga= Iogi(C) Iog%: loga—logb (D) (loga)*=

2loga
ﬁiﬂi = (B)(C)
Ejgﬂﬁ : (A) (loga)(logb) = log(a+ b) (B) —loga= Ioga‘lz Iogé

©) Iog%: loga — logb (D) (loga)® = 2loga = loga >

= ERE(EE 10 )
1.log;3=a - logs7=b > F']Ja > b#-10g4,56 =

g - 3t ab
ik 1+a+ab
EJZ;TR:
b
log £ 10956 log,8+log,7 a ?  3+ab
42 log;42 log,2+log;3+log,7 1, , 1+a+ab
a
2. {*fi#log.3 - logs64 - logs5 - logs49 [ fifi =
Fér;ﬁa 112
EJZ;TR:

log,3 - 10g764 - logs5 - 109549 = log,3 - 1ogs5 - (2logs7) - (6l0g72)
=12 - log,3 - logs5 - logs7 - log72 = log,2 = 12

. 1 00,3 [,
3. j\logZE+log5125+logﬁl+2'923J/ i =

T L Rt =4I092%+3+0+3=—4+3+0+3=2

4.7 (loge4) - (logzs+/3) - (log ;;5) =

£2H



1
ed = (2 1ogs2)(2 loge3)( = 10g25) = 1 - ~ - 2(logs2 - l0gs5 - loge3) = -
JET 2 R = (5 l0ga2)(<; logs3)( - 10g25) =1 - 7 - 2(logs2 - l0gz5 - logs3) =7

2
2 3
5. BE(Z Y = —2X3’X=
JZ“(3) (2)
Ejé;ﬁ?:
RSV xlog§= (2x— 3)Iogg

3 2 3 3 3
2log— - log—)x = 3log — 3log—) x =3log— x=1
=>(92 93) 923(92) 923
6. (logs8 + Iogg%)(log43 +109,9) =
FEAT
. 3log2 2log2,, log3 2log3 log2,,5 log3
et = (392 2090, 00°  200%) _o. 2952 . 0% g
log3 2log3” 2log2 log2 log3"" 2 log2
7. 4= 0g(75 + 49) =§+ 1+ logr2 [l9aET,
EJZ;TR:

X

log7(7* + 49) :§+ 1+log72 = log;7 2+ logs7 + log:2 = logs(7*+ 49) = log(14 - 72)

= T7+49=14-72 = (72)2-14-72+49=0

X

= (72-7%=0 = 72=7 = §=1 = x=2
8. rl%18"‘ =2 > F#l'Ja®k= log,2 =
g - 28
ik l1-a
FEAT
18°=2 I log = alogl8=1log2 = a(2log3+log2)=1log2
= 2a-|oi3+a:1 = Iog23:1_—a IogSZ:E
log2 2a l-a
9. [ :
25 27 3
1) logio— — 109105 + l0g10— — l0g10—=
(1) 9109 J10 91035 91070
(2) (log23 + l0g1681)(l0gs8 — loge2) =
A W1 @5
T
25 27 3 25 1 27 710
1)EEY =logo(— +5x—+——)=1l0g10 (— x=x—x—)=10g1;010=1
% Guo (g #5235 77 = 1000 Cgxgxggx57) = lod

£3H



@FE = (10gz3 + 2 10g3)(3 logs2 —% logs2) = 2 l0gy3 xg logs2 = 5

4
10. H 7V 0gs(x’ — 13) — loga(x — 3) = 2 1 4,
T
2 _ 2 _
loga(x? — 13) — loga(x — 3) = 2 = logs XX ;3 —logs =9 = XX ;3 ~3%=9

=x*-9x+14=0 = (x-7)(x-2)=0

2_
_\/{X 13>0 N X>\/E

Xx—3>0
Xx=7
115 5%
(D¥tog,a=4 - flfla= o (2)F%|ogb9\/§=5 > Hlilb =
A @43
12.7Flogs(v/2++/3 —2=+/3) = :
e o L
7 6
e
V248 2 -\B=—= (Ja+ 28 ~4-2{3) == [(VB+ 1) - (VB-1)] =2
V2 V2
1

l0gs(12+ 3 ~/2—3) ~log . V2 =2 logz2 -

13.5% 409 _3 . X192 _4-0 > fl[jx =
FAT;gk : 100
HERT
(29923 . 2% _4-0 = (2°%-4)2"%+1)<0 = 2°¥=4=2° = logx=2
x =100

14, f‘*%ﬂog%Jr 3Iog§+ |09%+ log768 . fifi £

T

HESNE Iog%+ log (%)3 + Iog%+ log 768 = log( 8l 125 1 x768) = log 1000 = 3

32 27 9
15.7% 1 Hd="logex + logs(x — 1) =1 > Hx =
BT
logex + logs(x — 1) =1 =logg[x(x —1)] =logsb = X°—x=6
= xX*-x-6=0 = (x-3)(x+2)=0

£ 4H



\/{X>O = x>1> = x=3® -2 ()

Xx=1>0

16. 1= log, (x+3) —2log, (x —1) =1 iy o

2 2
F&I_‘i’:X=5
FEPT
X+3 1

log, (x+3)-2log, (x-1)=1 = log, ——=1log, —
g, (x+3)—2log, (x-1) g%(x_l)z @J%2

2 2

x+3 % = X-2+1=2x+6 = X-4x-5=0 = x=5p -1

p— =
(x-1)°
. X+3>0
VFJL;VEJﬂL% = {x 150 = x>1:Hx=5
-1>

17 i x 900 2 39 ¢ - #«LE% S

()a= o QU R AU o
AR W4 @32
EJ@P? :

1
1) % £, x(0920-2 _ 39 = s Iq; T (%)(l 927,) _32

= (%)‘1‘5‘:25 = -1-a=-5 = a=4
(2)x"%04=32 = log, x"*""*=10g,32 = (log,x — 4)(log,x) =5
= (logz2x)’—4logzx—5=0 = (logzx —5)(logzax +1) =0

= log;x=5>-1 = x=2°>2" = x=% 32 L bl AU 32
18.?05 » BEH(log3x)(logdx) = 1 fluftsl » Hlar > 1S o
g L
[ 12
BT

(log3x)(logdx) = 1 9= #tha > B
= (log x + log3)(log x + log4) — 1 =0 p9= ftha > S
= (log x)*+ (log3 + log4)(log x) + (log3)(log4) — 1 = 0 v~ Ui » B
Y= logx=> y*+ (log12)y + (log3)(log4) — 1 =0 [i9~ FUTloge » log

HZ A loga+ log f=—logl2 = Iogaﬁzlog% = aﬂ:%

£5H



